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MANAGEMENT (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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2. (a)

@WUs—A / SECTION—A

e Tt (fafer senfien) woen 3 e ot & swwa & o smews w6t &)
AT

Explain the necessary conditions for application of simplex method to be
applied to linear programming problems.

T (ANOVA) % 375939 & fore urond wm hifdg

State the assumptions made for the study of ANOVA.

YergA g1 Yot & wan # few (Rewew) foem werum Sfie = Y gaw 3 faaem s

Discuss in brief system development management life cycle in the context of
Management Information System.

- 1 7 §-HaEE F IREdIHS ITN B WA H @M 3R IqF TeEd & fg
- I §EE, TP @ T W it it faasmn fifsg)
What is e-business? Discuss the dependance of e-business on Internet,

Intranet and Extranet to implement and to manage innovative e-business
application.

ol fafamion yonfert i w&m & faa=m fif)

Discuss in brief flexible manufacturing systems.

T FFAT 9 Aouhal 1 Al 1 afieor It R R R u vlien ot R) w9 foem
@ 2 5 = oe @ @ # <5 IculEl g fosh frege @ ohan o § #iE gy e
1 ot Seuia i ghian § =01 Yevi 9 T T A1 T FE 0T ¢

e 3w 50 | 60 | 58 | 47 | 50 | 33 | 65 | 43 | 46 | 68
fass ("000) | 48 | 65 | 50 | 48 | 55 | 58 | 63 | 48 | 50 | 70

a9 g fegoft difte f6 w=n s B Rl Scai i whan A e YRR 7w W Fan
HUTH T 1R

A company gives on-the-job training to its salesmen, which is followed by a
test. The company is considering whether there is any relationship of test
scores and sales performance made by the ten salesmen during last one year,
and also whether the company should terminate the services of any salesman
who does not perform well in the test :

Test Score 50 | .60 | 58 | 47 | S0 | 33 | 65 | 43 | 46 | 68
Sales ('000) | 48 | 65 | 50 | 48 | 55 | 58 | 63 | 48 | SO0 | 70

Give your comment whether the company should terminate the services of any
salesman who does not perform well in the test.
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(b) I 1 T Eaw Frenefl siftae st B (ar) when § S agfasedt v W Yo @1 @
FIAH T R | W TH F IR Tl SW E, quify Fae o @ wd W ¥) 9% 74 g R
it 7 - @ T 1, fendl & 5: 9d s g Y gevmE 3 Hifg

A law graduate student randomly guesses at nine multiple-choice questions in
All India Bar Examination. There are four possible answers for every question.
However there is only one correct answer. Assuming that all questions are
independent to each other, find the possibility that the student chooses six
correct answers. 15

© () & faafeer & weg wiaem ¥ meAae faam § g e f s
e % FIe % U fF WA X, Y@ Z % FH9: 10, 12 U6 7 a1 6 e B
A N TEF TR—ad AR T BA e Bl aqm AR X, YR Z %
FHY: 3, 2 3R 1 TS IUciey § U1 A Fwa T300 R ww BH X, YR Z2H
FEE: 1, 2 3R 2 3l Iyerey § 3R 39h Fima €200 B

™ e F g Waw s (frfrr senfi) wwen & & 3@ Hifve 7 fasm
F AW FA A R W TER F e T @l w3 @ T e B |
i)

For conducting Third Semester Practical Examination, the Chemistry
department of a university affliated college requires 10, 12 and 7 units of
three chemicals X, Y and Z respectively. The chemicals are available in
two boxes—box A and box B. Box A contains 3, 2 and 1 unit of X, Yand Z
respectively and costs ¥ 300. Box B contains 1, 2 and 2 units of X, Yand Z
respectively and costs ¥200.

Find how many boxes of each type should be purchased by the
department so that the total cost is minimal by formulating the problem in
linear programming problem and solve it through graphical method.

(i) G favemo w feugoft Hifvm)

Comment on the sensitivity analysis. 18+2=20

3. (o) uwm= A A wHy F fyEwn fifvw) fvm vor 6 qmed Qe | qwemE)

Discuss briefly capacity planning. Explain various kinds of capacity planning. 15

(b) T Yerua Y fafia srazenett Y waw § faamm it

Discuss in brief various phases of quality management. 15
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(0 & et & fiftm el & foe @ wefet g forn o v i anoft 3§ arofileg fRmmn @

- TIAfET gvg (92 )
7¥fi7-1 T¥fia-2

A 2:5 15
B 36 2:0
C 11 325
D 2:25 2-75
E 375 1-8
F 1-25 4-0

g gt AR el F g TRE R W e hifsg @ @ dgen 3 @)

The time taken by two machines on various jobs in a factory is tabulated in the

table below :
Job Processing Time (in hours)
Machine-1 Machine-2
A 25 15
B 36 2:0
e 11 325
D 2:25 275
E 375 1-8
F 125 4-0

Calculate the loading sequence for the given jobs and machines to make the
line balancing properly.

4. (@) N h gen dAfEh e H @du F fEem A, St @ F FmFR F d-als B
oA |

Discuss in brief the new information technology trends that will change the
way of industry workings.

(b) 394 GaEA faeA (fo Ao dio) Tgfa % @ w@ wfET i Gftw fRaem Hifvw)

Discuss briefly the advantages and disadvantages of ERP system.

(c) Trofa gudfa yomelt (o o o) T FivFa e Faswe yomelt (3o Eo Wo THo)
wftw fdem Hifsg @ s gon Hifs)

Discuss briefly DSS and RDMS, and make their comparisons.
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(c)
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(e)

6. (a)

(b)

(©

@Uvs—B / SECTION—B

“eh it 20 F Sl foee § og-3-nem v (We o fo) e M@ M B W
T 1 AT AT WRA % 6T § I9gh I 3 7Y Ff

“SMEs are backbone of any country’s industrial development.” Critically
analyze the statement in the Indian context giving suitable examples.

“aRa A dedt TR drEmd fuen F uF T w1 SHEIET| YR % 9’ Hi
HioEl &1 favemo Hifsm)

“Increasing cyber frauds in India are a major cause of concern.” Explain.
Analyze the shortcomings of cyber laws in India.

WRA & TET A Fa9E #§ waie & AU Aeayul 4 Y veeE FI) o 9 9§t § ¥e-3
&7 M Tl s 9T 87 quemsy|
Identify the sectors of environment that are currently more important in the

Indian context. What sectors are likely to become more important in coming
years? Explain.

3 PA-V G §, S TeaE F AEwHA H AR TR T §? IYH 90 7 g A 5w
e i Frar w1 R § we Hifve '

What are the signals which point out that a turnaround is needed? Elaborate
any four turnaround actions giving suitable examples.

forma 2@ ant § wRa % et R A yaf 1 seeATeS e fifvi)

Critically evaluate the trends in India’s foreign trade during last ten years.

“ara F AeFERl & fon ofelfe faem ¥ & smgeR # g wate wiafiear €
=R’ %% TR wE fafte Tsw wenl gr ser g fafie wel @ SgE w3 T wE W
foram @ wwzTET)

“Removing regional imbalance of industrial development should be top priority
of Indian planners.” Elaborate this statement mentioning various initiatives
taken by the Central and State Governments.

HiEmaTse Fmion § FrRia wF @ed SHEEiie TR R WHINS w99 i S 2| Iy 9%
1 IFTURON A F HIG X Gehell 87 ITYH 2@ 4T
An organization involved in automobile manufacturing wishes to exercise

strategic choice at business level. How can the concept of experience curve
help in it? Give suitable example.

vy fageht fEwm (TFe Ho 31130) & 118 e shfaes 1 el faweiwo i) =n
H9H T @ o wra F um vew e faw B omeffa F@ % o o gge Aife 7 fan
q TR |

Critically analyze the economic rationale behind Foreign Direct Investment
(FDI). Do you think India has a robust policy for attracting FDI? Elaborate.

10
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7. (@ () “‘=eEiE wH AE am T s % o afvas §-oaem (3-foeee) A w #1
wH 3 fafm g &5 &1 9a) g¢ T8 B B THART)

“Global e-business is being applied by business firms to achieve greater
profits.” Explain this statement giving various areas of application in

firms. 10
(i) “‘FETd UsHifoEs TGy § 39 F1 e favermw st eyl @ S 1 59 e
I9gh IaTe < g Faear & v il

“In changing political scenario, country risk analysis becomes utmost
important.” Elaborate the statement giving suitable examples. 10

(b) ‘Tt wrorft w wfermufeors oy @ IEm o= fRfa § A R17 @ R w1 wlem
FfT| wRa & & v 3am A o TR el wE S gl ofr sud wfrmufos
Ha it yeaH Hifvg)

“Competitive advantage of a company positions it well in the industry.”
Examine this statement. Select a company which is a market leader in India in
a particular industry and identify the sources of competitive advantage. 7+8=15

(c) ‘‘wgfea Hifa Fein % fou w@r @ fofim @m ok afse @91 & 9 wds aeahs
Toram -l @ st R17 H0 A9 TR HEHA €7 I9GH 4TV A g HHATRT
“It is essential to have meaningful interaction between government and various

industry and commerce associations for balanced policy making.” Do you
agree? Explain giving suitable example. 15

8. (a) ‘‘wrifts TEAER WISAIHE FHAH! FI TG H HeG FA1 81’ ITE Iq §C TALATRY | WA
TSHEH IYART FA & fhdl dF HROT F1 Ig@ Hifg | ’

“Strategic alliance helps in enhancing organizational capabilities.” Explain
giving examples. List any three reasons for using strategic alliance. 20

(b) ‘‘Iuirm weaw AfufEm (o do wo) F dra I AR A W FTA H wWiew
e HewEqul e R #1) @ Fe ¥ o 8, R-wel @eAt (W o o) H
wrfer i ik < 39gw IeE 2 gL faa=m i)

“Voluntary organizations play an important role in protecting consumer rights

under the Consumer Protection Act (CPA).” In the light of this statement,
discuss the process of involvement of NGOs giving suitable examples. IS

() Tafim w0 ® e who H 3uht ara 3R @ 1 3gE Fa e fawr & we A
THH & HI W & 19 gherargEs JHR-YER § REE (ASEAN) 3R "% (SAARC)
A sftr 1 e Hifw
Elaborate different levels of economic integration giving costs and benefits.

Discuss the role of ASEAN and SAARC in successfully promoting integration
between member countries. 15
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Cumulative Standardized Normal Distribution

-2 -1

0o 14

2

A(2) is the integral of the standardized normal
distribution from —  to z (in other words, the area
under the curve to the left of z). It gives
the probability of a normal random variable
not being more than 2z standard deviations
above its mean. Values of z of particular

importance :

z A(z)

1-645 0-9500  Lower limit of right 5% tail

1-960 09750  Lower limit of right 2-5% tail

2:326 0-9900  Lower limit of right 1% tail

2:576 09950  Lower limit of right 0-5% tail
4 3-090 09990  Lower limit of right 0-1% tail
3-291 0-9995 Lower limit of right 0-05% tail

z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0.5000 0.5040 0.5080 0.5120 0.5160 0.5199 0.5239 0.5279 0.5319 0.5359
0.1 0.5398 0.5438 0.5478 0.5517 0.5557 0.5596 0.5636 0.5675 0.5714  0.5753
0.2 0.5793 0.5832 0.5871 0.5910 0.5948 0.5987 0.6026 0.6064 0.6103 0.6141
0.3 0.6179 0.6217 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517
0.4 0.6554 0.6591 0.6628 0.6664 0.6700 0.6736 0.6772 0.6808 0.6844 0.6879
0.5 0.6915 0.6950 0.6985 0.7019 0.7054 0.7088 0.7123 0.7157 0.7190 0.7224
0.6 0.7257 0.7291 0.7324 0.7357 0.7389 0.7422 0.7454 0.7486 0.7517 0.7549
0.7 0.7580 0.7611 0.7642 0.7673 0.7704 0.7734 0.7764 0.7794 0.7823 0.7852
0.8 0.7881 0.7910 0.7939 0.7967 0.7995 0.8023 0.8051 0.8078 0.8106 0.8133
0.9 0.8159 0.8186 0.8212 0.8238 0.8264 0.8289 0.8315 0.8340 0.8365 0.8389
1.0 0.8413 0.8438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0.8621
1.1 0.8643 0.8665 0.8686 0.8708 0.8729 0.8749 0.8770 0.8790 0.8810 0.8830
1.2 0.8849 0.8869 0.8888 0.8907 0.8925 0.8944 0.8962 0.8980 0.8997 0.9015
1.3 0.9032 0.9049 0.9066 0.9082 0.9099 0.9115 0.9131 0.9147 0.9162 0.9177
14 0.9192 0.9207 0.9222 0.9236 0.9251 0.9265 0.9279 0.9292 0.9306 0.9319
1.5 0.9332 0.9345 0.9357  0.9370 0.9382 0.9394 0.9406 0.9418 0.9429 0.9441
1.6 0.9452 0.9463 0.9474 0.9484 0.9495 0.9505 0.9515 0.9525 0.9535 0.9545
1.7 0.9554 0.9564 0.9573 0.9582 0.9591 0.9599 0.9608 0.9616 0.9625 0.9633
1.8 0.9641 0.9649 0.9656 0.9664 0.9671 0.9678 0.9686 0.9693 0.9699 0.9706
1.9 0.9713 0.9719 0.9726 0.9732 0.9738 0.9744 0.9750 0.9756 0.9761 0.9767
2.0 0.9772 0.9778 0.9783 0.9788 0.9793 0.9798 0.9803 0.9808 0.9812 0.9817
21 0.9821 0.9826 0.9830 0.9834 0.9838 0.9842 0.9846 0.9850 0.9854 0.9857
22 0.9861 0.9864 0.9868 0.9871 0.9875 0.9878 0.9881 0.9884 0.9887 0.9890
2.3 0.9893 0.9896 0.9898 0.9901 0.9904 0.9906 0.9909 0.9911 0.9913 0.9916
24 0.9918 0.9920 0.9922 0.9925 0.9927 0.9929 0.9931 0.9932 0.9934 0.9936
25 0.9938 0.9940 0.9941 0.9943 0.9945 0.9946 0.9948 0.9949 0.9951 0.9952
2.6 0.9953 0.9955 0.9956 0.9957 0.9959 0.9960 0.9961 0.9962 0.9963 0.9964
27 0.9965 0.9966 0.9967 0.9968 0.9969 0.9970 0.9971 0.9972 0.9973 0.9974
2.8 0.9974 0.9975 0.9976 0.9977 0.9977 0.9978 0.9979 0.9979 0.9980 0.9981
2.9 0.9981 0.9982 0.9982 0.9983 0.9984 0.9984 0.9985 0.9985 0.9986 0.9986
3.0 0.9987 0.9987 0.9987 0.9988 0.9988 0.9989 0.9989 0.9989 0.9990 0.9990
31 0.9990 0.9991 0.9991 0.9991 0.9992 0.9992 0.9992 0.9992 0.9993 0.9993
3.2 0.9993 0.9993 0.9994 0.9994 0.9994 0.9994 0.9994 0.9995 0.9995 0.9995
3.3 0.9995 0.9995 0.9995 0.9996 0.9996 0.9996 0.9996 0.9996 0.9996 0.9997
3.4 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9997 0.9998
3.5 0.9998 0.9998 0.9998 0.9998 0.9998 0.9998 0.9998 0.9998 0.9998 0.9998
3.6 0.9998 0.9998 0.9999

* Kk k
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